Generated from BLS DKG (RUST)

Signature : (192 characters)

8286c632236bf789222£5866dcc441dbbdecdddoff76£468cf027648a47cd3fdelbe5de27£df2e977284£9
97d97acf76187a93c6e85d98b16b78cec834d369%bcalde7dadlcbl9cadl0b686d4a5e52417del932f4ec9cl
013c26e309488161fdeb

ac44cd8ae928f5524ccef9019eed2932bbf95d3726c3a%bl7acc2edcbc645ad5335fb
912d2c5898a1d34e58114£748bd83789cea7d20cdl19cc2d48618d1l6c30d2e94a5edle
e96494f70edd1ca3d7410774a860776acbc5792f403ba0007b116c85176£8720£1836
7069£dc504122db1987e1237b7b2da021d2c6£416bb09%aa28683ac44b8a699cf28acs8
99p4a441709%9a6a6b53180d8calbb3f7666559a9a6e490df08a5d7177e019645a01b993
adeeddaellecd4ab82a32b9ce207d3cabloc8abf

Generated from py_ecc Library (PYTHON)

Public Key (96 characters)
98fad4ca8b98082de0ea80ba8ed3acde7cd45ad2730624b92£483370£f8aaaf6514d58f
472012f7b7b37ae3a8b5af%edl3

a95a0c6832bde37fc0b7bc9cl4cd6b487addf5dedf8866achb7020009939e945903d0
dc34b78d7742832ee9234aebcd2105fdacd4b33a23e1aa836879%pbefbc669199223870
688eel0b3d545bad2549387¢cl165¢c677c649%9a8ebdc0837336bee3d4d



What is Gl and G2 ?

35 3

36

37 //Example of BLS signature verification

38 function wverifyBLSTest() returns (bool) {

39

48 bytes memory message = hex"7bBa820226T70656e223a207h0a20202020227872696365223a2039353931372c0a2020208202274686d65223a207
41

42 G1lPoint memory signature = G1lPoint(11181692345848957662074290878138344227085597134981019040735323471731897153462, 64797:
43

44 G2Point memory v = G2Point(

45 [1852319422967416163257434634237053421392897022773681334997533219079883 7787897, 572545264584054824857187996624965321
46 [381665672021 36372438537 1191. 484 7TOT732736710924, 677280212051826798882467475630465784:
a7 'H

48

49 GlPoint memory h = hashToGl{message);

58

51 return pairing2(negate(signature), P2(), h, v);

52 3

53

Our smart contract takes public keys and signatures in Gl and G2
format.

Problem ?

1. Expected in smart contract : 77 characters
2. From Py ECC Library : 115 characters

There is a difference in encoding that both python and bls dkg rust
developers have used.

So the output for Gl and G2 of different sizes in py_ecc library.



Community Help 1

Issue : L : ith m hereum i 12

from py ecc.bls import G2ProofOfPossession as bls pop
from py ecc.bls.g2 primitives import signature to G2, pubkey to Gl

private key = 5566
public key = bls pop.SkToPk(private key)

message = b'\xab' * 32 # The message to be signed

# Signing
signature = bls pop.Sign(private key, message)

gl = pubkey to Gl (public key)

g2 = signature to G2 (signature)

print ("--—----—-----— ")
print (public key.hex())
print("--—---—---———— ")

("
(
("
print (signature.hex())
print ('
(

print (bls pop.Verify(public key, message, signature))

Result

Not worked, coz changing G2ProofOfPossession to
G2Basic/G2MessageAugmentation does not impact in conversion public key
to points.


https://github.com/ethereum/py_ecc/issues/125
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